
“

“

�

• 39, 41, 43, 45, 47, 49, 51

� 315 � 340 � 385 � 490

• 13 7

� 6 � 10 � 20 � 40

•
∣
∣
∣
∣

x + y = 6
x − y = 4

� (x; y) = (4; 2) � (x; y) = (1; 5) � (x; y) = (2; 4) � (x; y) = (5; 1)

• a1 = 1
a3 = 4

� 5 � 12 � 31 � 45

ma
th-
bg
.co
mm

�



• (2p− 1)x+3− p = 0 p

� p = 0 � p =
1

2
� p = 2 � p = 3

• x2 + 2x − 15 = 0

� 0 � 2 � −2 � 15

• 2x2 −√
5 x + k = 0

� k = 0 � k =
5

2
� k =

5

8
� k =

8

5

• y = x2−4x+3 x∈ [−4; 5]

� 0 � 1

� −1 �

• 1 − x

x − 2
≥ 2

� (−∞;
5

3
] ∪ (2; +∞) � [

5

3
; 2)

� (−∞;
5

3
) ∪ [2; +∞) � (

5

3
; 2]

• 3
√

x3 + 1 ≤ x + 1

� x ∈ [0; +∞) � x ∈ (−∞;−1]

� x ∈ [−1; 0] � x ∈ (−∞;−1] ∪ [0; +∞)

• 4x−1 = 16

� 0 � 3 � 4 � 5

• log
4
24 + log

2
4−2 =

� −2 � 0 � 2 � 1

• 2
√

3 cos
13π

6
=

�
√

3 � −√
3 � 3 � −3

• 4 − 3 sin x = 0 [−π; π]

� 3 � 2 � 1 � 0

• ABCD O P

BC BP : PC = 1 : 2
CPO ABCD

�
1

6
�

2

3
�

8

3
�

1

3

� [[
5

co33
;; 2)2)

�� ((
5c33;; 2]2

b3 ++ 11 ≤≤ xx + 1+ 1

�

44xx−11 = 16= 16

�� 33



•

�
12

5
�

20

3
�

15

4
�

24

5

• �ABC BC = 5, AC = 3, sin <ABC = 0,3
sin <CAB
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• ABCD BC = 5, CD = 3, <BAD = 60◦
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• 45◦

• sin2 x − 4 cos x + 4 = 0

x = 2kπ, k = 0,±1,±2, . . .
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x→3

x2 − 4x + 3

x2 − 9

1

3

• f(x) = 5x3 − 4 x + 2
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